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sifleflué / SCIENCE
( Tamil & English Versions )

Gryb : 2 %mm‘ﬂ 1 [ Qurés wHiCuemse : 100

Time Allowed : 2 % Hours ] [ Maximum Marks : 100

u@d - 1/ PART -1 ,
(mé\ﬂ@lum&;eﬁ:20><1=20]/(Ma.rks:20x1=20)

efliy [/ Note: 1) S@asg alamés@sob e wef&seyb.
Answer all the questions.
i) sflurer eloLous CaibOs058 TWES
Choose and write the correct answer.

1. weopsgeise Carer aigeuposi QUDS &myewid

a  urly @uelles b) rily allens

) owwlrHTHE alomes d egmiey ales.
Raindrops assume the spherical shape due to

a) surface tension b) gravitational force
c) centripetal force d) frictional force.

2. @Qoblesr geralflQeuess 12 x 10~° K- ! aaflér, oger umw alflClauess
Coefficient of linear expansion of iron is 12 X 10-¢ K- 1. Its coefficient of
volume expansion is
a) 36x10°6K-! b, 24 <1079 K-
c 44x10°8K-! diaBxle P Kt
3. owss sovubsagist Bildr QaTHbloe
The boiling point of water inside the pressure cooker is
a 100°C b) 0 C
¢ 120°C - d -120°C.
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2
uef&e 1y ullesr 2 e@penm Qeutiugdlesr wiy

The value of latent heat of ice is

a 80 J/kg b) 3-34 x 10° J/kg

©) 2257 x 105 J/kg d 540 J/kg.
detaumeusreuppei eremeu WYe&TOW HiphseT 2

a) ey, uéos wHDID e b)  Sleuy, Huret whpid Keoid
c)  peud, Hures whpb OugpedtLim d) eagm, feuliy whpid LsE.

Which of the following are primary colours ?

a Red, green and blue b) Red, cyan and blue
c) Blue, cyan and magenta d) Violet, _reEl and green.
B6 Gslorsdna aeug)

a) 1000 eumr b) 500 eur_

c) 746 eurl d) 647 eur..

1 H.P. equals to

a) 1000 watt : b) 500 watt

c) 746 watt d) 647 watt.

P06 &Ifusas seflvd, B-geamer 2 Blpigl Aeovsamid Curg, syser 2|V &TGToT
8  Quead sidlsfedpg b @& eopdpg

¢ gon deflsdpg d Qe eondns.

When a radioactive nucleus disintegrates by emitting a B-particle, its atomic
number

a) increases by two | b) decreases by one

¢) increases by one d) decreases by two.

298 K Gauiuglenevléo mSiflesr SWNICUBSSS S Ly

a  1x10°7Gome 26l -2 b)  1x 10! Gureé 26 -2
c) 1x10! Gure 2e)-2 d  1x107 Gore 26 -2,
The value of ionic product of water at 298 K is

a 1x10-"mol2L-2 b) 1x10-!'4mol2L-2

¢ 1x10% mol2L-2 d 1x107mol2L-2
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SOuwesoigd 2Hle SjeTey 2_aien &
The oxide that is present in maximum portion in cement is

a S0, b) Fe,O,

o Al,O, - d CaO.

.................... s ey QueTatyTs WwTHol LWSTLRSDE.

a) Gemgub sruGer b) sredud Sysed @Camer®
c) sradlud seGul d Gsmgud ou sriuGerl.

.................. is used in softening of hard water.

a) Sodium carbonate . b) Calcium oxychloride
c) Calcium sulphate d) Sodium bicarbonate.
govemeuggTenes eurhiiur®

Bleaching powder is represented by the formula

a) CaO.CaCl, b) CaOCl,

o CaCl, d CaCl,.CaCO,.
e GCaeren seflob 6rgl ?
The lightest element is

a) He b) H,

c) Ar d Li.

sefl peshser @Qreon® dfleserms WoHLLESSUILLD RO CUEBAPOSHESET
whHO\DTesTD)

a) @e@mluenwur (peSHSel b) mET SRS

c) Smiues d) eoBLyDeT.

Mineral elements are divided into two categories, macro-elements and
a) essential elements b) micro-elements

c) carbon | d) nitrogen.

DTEeEsen G ahs el L Bler @eDUTLLITE gHURSIDS!

a) G;S)G}JI'_t_lﬁsh B b) emeulLblest A

¢) eeulLiflet D d) e Lbler C.

Night blindness is caused by the deficiency of

a) Vitamin B b) Vitamin A

c¢) Vitamin D d) Vitamin C.
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15. dereumeueteupmier erg Hinisse GDIH G)evere 2
Which of the following is not a stop codon ?

a UAA _ b) UAG
c) UAC d) UGA.
16. @@ 5B&CaTeTs Qadelle aldewls LbHL g Lug)
a) dlaeueniiiy b) ©Camein
c) ugbuery Cussre d Oeeellwe.
The study of the fate of particular blastomere is called
a)  Tissue culture b)  Cloning
c) Cell lineage ° d)  Cytology.
17.  sflstuqurer udlller sryewmors 2818 2 ey 2 1 Qameii@pb e
a) uredyfwr b) umreligudlur
c)  urelGugdlum d  ureSwrrdwr.
Excessive appetite leading to increased intake of food is known as
a) polyuria b) polydipsia
c) polyphagia d) polymorphia.
18. ®LILYS STLEEH gHuL s ST ESOTONE 2_6ieng)
ad el QyuBLrarssdy b) OLeuBaraTésey
c) & Csreve d IloAGuimr &rew@y.
Rheumatic fever is caused by
a)  Streptococcus b) Staphyldcoccus
c) E coli d)  Vibrio cholerae.
19.  uesstiuTops6T Sflanres sraoILGuS)
a) e euETGLT b) &psreuetDd
c) &edlgCur . d ugsyf.
Coral reefs are abundant in
! a)  Gulf of Mannar b) Sundarbans
¢ Keoladeo d) Bharatpur.

20. waww 2 JrEEsld LwSTLED LILELL s SeTalE
a 200e&.8 x 20 Qg.5 x 20 Qs .5 b) 30 @&.f x 30 Q&.f x 30 Qs.f
c) 50 Ge.f x 50 Q5.8 x 50 Qe85 d) 80 Q&.5 x 80 Q5.5 x 80 Q.5
Dimension of a wooden box can be used in Vermi Composting of the size
a 20cm x20cm x 20 cm b) 30 cm x 30 cm x 30 cm
c¢) 50 cm x 50 cm x 50 cm d) 80 cm x -80 cm x 80, em.
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u@d - I1 / PART - II
(LHuGueser : 10 x 1 =10) / ( Marks : 10x1=10)

ey [ Note: 1) Soardg allambaensd aleoLwell&eayb.
Answer all the questions.
i) efoLsd g6 Gered ez o Cerpsd Iowg
o6 aufllld Gesse Cama@b.
Answer should be in a word or in few words or in one line.

§1606016:E T @hHGID yel&Eh @ Cu 2 sier FFI"H]L{G)S_]GU)& wrg ?

Which gravitational force acts between a satellite and the earth ?

CarelLé srensae BrLsT gar préoms QualCu CgThe el gnesGD ?

Why do dogs kéep their tongue usually out in summer ?

H&Crmd eredTLg WTH) ?

What is nichrome ?

aebLseT X-sglitasemen 2 U saumb Hevew QUT@sT. e 2

Bones are good absorbers of X-rays. Why ?

Ganuit wepdlé SpCorefiur surfléast LusTU@D allaear Gous wrHl er& ?
Which is used as catalyst in the manufacture of ammonia by Haber process ?
@pmriig GerLm ereTUg WTE ?

What is Baking powder ?

FeuL g uieiTen QpTdlaer ( TETEDSET ) WTea ?

What are the enzymes present in Yeast ?

yoslloe Quramssd aayamensd sTTOUlgsgeut wrt 2

Who discovered Tobacco Mosaic Virus (TMV ) ?

PQOLWDLHS SHNDD (PLOL T&TUS WTE ?

What is known as the fertilized egg ?

@helurale LS]@;’DQ 5rréwr£:u®fn e 2 wWihs WPEs&saar Qasos GHUTIRS.

Name the important species of pearls of high value obtained in India.

[ Turn over



5326 6

u@d$ - I / PART - III
(w@uuesorser : 15 x 2 = 30 ) / ( Marks : 15x2=30)
efluy /Note: 1) aeeuCuei 15 ellenméseanée el wellésab.

Answer any fifteen questions.

) @dCer® alamalhed Gras® wHIOULCTS .
Each question carries two marks.

i) eflerr ercorest 32 whHpib 38 2 Fwaddlhe &wmyiurs
alleoLwelés Gauam@n. @dalye® all@mssepd almrus
Qzflelibe ( Option ) 2 U uirrg.
Write answers to Question Nos. 32 and 38 compulsorily.
These two questions are not included in the option.

31. pée 2wl QurELeafler LT s gGaID @Tetor() sams.
State any two properties of a good lubricant.

32. 0-150 &l. &. fleon Qsreo G @bl Qaudloaou 283 K lflpha 533 K &6

2 wiss Coemeulu@id Qeuli ADODEST SjeTemats saTHH@s.

[ @@bder sa1QeutL ghusdpesr = 480 Jkg-1K-1]

Calculate the amount of heat energy required to raise the temperature of
0-150 kg of iron from 283 K to 533 K. '

[ Specific heat capacity of iron = 480 Jkg-1K-1]

33. UBHSLTSHE TSI ereTer ? THEESHTLH SH5.

' What is sublimation ? Give an example.

34. geflder Apiiflosou apup.

Define dispersion of light.
35. 9B Cwdadldr Hpener UL,

Define power of a lens.
36. wré&evteudisr pe aldows gps.

_ State Maxwell's corkscrew rule. _

37. Jétauphd sigisen aloandlen X 2 L& Yedn whCori o Lsweaurs wrpdng.
‘ 88 X?® > Y+ ,He 4.

Yo La@allesr s eretor, Hleop ercior ereinet 2

In the nuclear reaction given below, a nucleus X changes into another nucleus Y.

8s X% > Y+ ,He 4. '

What is the atomic number and mass number of ¥ ?

38. 0-001 Gure.ef) “! waniyger  swelset Qedlasier semgsefles 2 eren
@apgréeailer swellseflsr Qefley arsra 2 '
What is the concentration of OH - ions in a solution containing 0-001 mol L~ ! of
H* ions ?

39. RCC erébipmé ereiresr 2 S|BET LIS &6 6T (L)EIS.

What is RCC ? Give its uses.
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&1 seaUSSTET HTDHDILILISTS ousd S@L&sILESIDS

Why is bleaching powder packed in air-tight containers 2

Ceudlls QuT®meilett Dyyaedn eTesID) & 6T sy e sybleod S p&aiLbEDs 2

Why is sulphuric acid called as the king of chemicals ?

eibCurefurelier LwsTseT gGsaubd Gyea® &nis.

Give any two important uses of ammonia. :

L g6y Mé sflesdler (H,SO,) wearloalle apgeme, &3 Cermuilé
sifless e yflyd eleanurg ? sLSTUTE 565 -
How does ethanol react with ethanoic acid in presence of concentrated H,50, ?
Give the equation.

e wppibd Cuerewwrer GerlseT LTeeal ?

What are hard and soft soaps ?

Sjefléems Clgwe eTeTDITE TS ?

What is a reflex action ?

Qe CGrriSluey SgLueLUTeEs Qargr® uaslU@sSsUULL
&CyrCurGamrbseens dmnis. _

List the different types of chromosomes which are classified based on the
position of the centromere.

QL bGeTL 19 676076 . ETESTDITEY ETETERT ?

What is template D.N.A. ?

GReHHET Sjlieul LLD alorhsl UTERIGEeTES GDISSHaD.

Draw a labelled diagram of Gynoecium.

Ly setewwhn CHriseT G)yeDyeers eOLIRs.

Name any two non-communicable diseases.

S HTACUTETTD eTSTDTEL STESTE 7

What is an Angiogram ?

wgCyrGaaet erepme GTasTeaT ?

What is Eutrophication ?

@DTE eUeTTLIL| (PENDE ST wperdleoaé eHUIGs.

Mention the three types of prawn culture.

ug# - IV / PART - IV
(wdriQuessiser : 8 x5 =40) / (Marks : 8 x5 =40)
ey /Note: ) gaQare dfalldlepad eopbss @y <o @
Nerrésoeanuralg QsflaGelg Qurssh a-@ ersHEHSS
allem_wef&aab.

Answer eight questions by choosing at least two questions
from each Group.

i) GeeeuiL@d GLBiseies ULD aTS.
Draw diagrams wherever necessary.

Sifley - & / GROUP - A
Qelierfler Gareluss alfamend sl alla1s@s .
State and explain Kepler's laws of planetary motion.
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Sl (B BT Gerormédluilest yemviienLyD QweLPbd alsga sy aflauf.
Describe the construction and working of a compound microscope.
a Waalloss Car@est wreea 2
What are electric lines of force ?
b) Wealomss Car@eaefa W&EIOTET BiTesIE LT Hamens G&OIEs.
Mention any four important properties of electric lines of force.
S A PDlen BT E s GRS .
Mention the advantages of nuclear energy.

difley - @1 / GROUP - B

Cauglé sufloe @ @wrﬁx@ sblone ereituams alleur].,

Discuss that chemical equilibrium is called dynamic equilibrium.

QDTG UTWR 2y eSS sreeurmy swrliwmd 2 uLb UTHG LTSRS eTS
&) Coud) elewars@Nu swetLm e TGS

Describe how hydrogen gas is prepared in the laboratory. Draw a labelled
diagram of the apparatus used. Give the chemical equation of the reaction
involved.

Camlijsem whnib sevemais QUL sefea Gu o sfer Coaupur@sst wreveu 2

Explain the differences between soaps and detergents.
difley - § / GROUP - ¢

uréefluraller Qee oy upiH ela.

Describe the cell structure in Bacteria.

UGESTOSS® 2 lliQgmfle plualud web 2 Husd QlelwliuL &enigw
QU@L seer aflers@s:.

Explain some of the newer future products of Biotechnology.

s Gledseiesr LuGTLT ST WTae 2

What are the various applications of the stem cells ?
aleigsefler Bflsr Luer arapsys.

Write about the role of water in animal system.
oLwrelllev - LGGap aessmer alerées.

Explain in detail about the different types of dialysis.




